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Specific Instructions:

(1) There are total 20 questions. Section-A consists of 10 short answer queslions with wordlimit of
125 each and Section-B conslsts of 10 long answer questions with word limit of 200 each. The

questions are printed both in Hindi and in English.
(i1) All questions are compulsory.
(iii) The number of marks carried by each question/part is indicated against it.
(iv) Keep the word limit indicated in the questions in mind.

(v) Any page or portion of the page left blank in the answer booklet must be clearly struck off.

We-31/Sections-A
1. =N dafees Afdehdl 1 YHE wieh-Sied & ol T agdr 2 8

Does individual morality have a bearing efffect on the decision of public life?
2. HETH Tl % Hq % SFIHR o HHA-Y NEvIH G § S U ARY AT ek SHoER ¥ St
g &7 fad=m iR 8

What are the essential virtues which are responsible for an idea,l human ethical behaviour according to
Mahatma Gandhi? Discuss.

3. MR RN USRI oh1 SEUAN, WA i el T T foehtd | el S i & %R0 2|
T YT & YRYST H HESHe Sied d IR Y4 & SYE FdEu| 8
Corruption causes misuse of government treasury, administrative inefficiency and obstruction in national

development. Give suggestions for prevention of corruption in public life in the context of the statement
given.

4, ek T & 95 H frafated st i w1 g s 8
(31) Afgew e
(9) i Sied | gaafassr

Describe the relevance of the following in the context of civil services:
(a) Ethical governance

(b) Probity in public life.
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. T FIEIl % Ged §N U Ifaqul ¥ o S W@ e gfaw ot gfa wiHal ot fRR

#d B for WeT 1 et yohR 1 femn 7 % ) g A wed @ T Al erevasar @, df 5% (U
ugl ¥'| Uk o Yot I ORAT <A ol Uk At | SEd il € SR fUer e a1 #1 SRv 99
W W e FEd ¢ fh gferm enfian 3 U6 ven % TR wE e Swded weol & uided W gfer
arefiersh qen gfer@ el & Afaes eteRer W feuqol fafaa 8

A peaceful protest was being carried out by a group of milk traders. The superintendent of Police instructs
the Police Officials to prevent the group from committing any type of violence, He, however tells them to
‘teach them a lesson’, if situation warrants. A Police Offical on duty indulges into an argument with a
protestor and beats him up. When inquired about his action, he says that he was told to teach them a lesson
by the Superintendent of Police. Give your comment on rethical behaviour of both the Superintendent of
Police and the Police Official in the light of above mentioned incident.

g 1 aReIfea Hifs@ qen waga e sifaemar & Ufaerfas afde daui &1 foe=m S 8
Define attitude in historical perspective and discuss the relationship between aptitude and attitude.

TErfa ol aRfrd FIRE IR wHAeR o w5t gueet & e ¥ geryfa #1 gfaer 6 faeee

Eaisel 8
Define empathy and discuss the role of empathy in solving problems of weaker section.
“Heneneh gfg el SwEyUeE § wgd eveh €7~ 39 Y W YhNl Sl 8

“Emotional intelligence is very important in effective administrative practices”. Throw light on this
statement.

Wih Horshl &3S WEeTdl qel HEUN hi Hy Ui feha1 S Hehel 22 791 e el 8
How can tolerance and compassion be fostered among civil servants? Give your opinion.
favg ifsa: 8
(i) swgfrear e fasr #
(i) sfagfa =t T Td g HI
Differentiate between:
(a) Objectivity and dedication
(b) Structure and functions of attitudes

We-da/Sections-B

TG U WRE God #4182 e godl @ sush! Fa fiear 227 sren #ifdl 12
What are the traditional values in Indian society? How does it differ from modern values? Explain.
Frsft & it Afes fapfaail = €2 Afaes Sfem & i faemedi &1 aoi it 12

What are the ethical perversions of private sector? Describe the three options of ethical life.

TAAH IR G | O Hell S i o ford N -Gt § o5 SevEs €2 9
fed I A 12

Is change in work—culture necessary for providing quality service delivery in present administrative
structure? Answer with arguments.

I AH-TIMEA W =qer 0 eavas 8?7 eie-9emed W gufad =mafe frs & fafa= s
T AT HifS| 12

Is judicial control necessary in Public Administration? Explain the various possible forms of judical control
over the Public Administration.
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T gfd Tk WER FHEAR R 9 A0 g5 Trar-fud & W 1R ¥ wd € & & gm0 % S 11
a8 % Uh Y Aok F Sl ol @l widl 81 9 <aH feufa § uw oeR st o, fwent
G-I FHTA A FIE T o1 TH G IH Aok I S W A W 2 SR wE w@d € 6 Ak 9w
T i & g Hd-Taar w1 @Al HOM, @ o YA ATTARATER S worgd 1 qon e w1 oft
e | Afqen giehor § T gid & SR 1 godih Hifsd| 12
Ram Murti is a Government servant and lives with his old aged parents in Indore. One day during a field-
visit he meets a 11 year old orphan boy. He was in a miserable condition and homeless, with no one to
take care of him. Ram Murti brings the boy to home an proposes him that if he takes care of his aged

parents, he will give him daily wage according to his needs and will arrange for his educaiton too. Evaluate
Ram Murit is conduct from ethical perspective.

e & Afdeh T Tefas afrgfa 9§ ey = gwed €2 oM 3R aduH UeHfae Iiged § R wehR
3faa fag w412 12

What do you understand by moral and political attitude of human? How will you justify these in the present
political scenario?

fofT Hefelt ehrienen g & ol SOl i fae= HitE) 98 sa 98 b 82 12
Discuss the root causes of gender related negative attitude. Why is it so rigid?

qrifss IR & Ufd SAfed i AAgha fmior & g9ifad & ol SRl & STYE 3N i
e | foeE it 12

Discuss the factors which influence the formation of individual’s attitude towards social problems with
the help of suitable examples.

‘3 Wik Wenstl § oeqfeedl ue el wHa w5 Wi 2'-whed @i fag st 12
‘Today objectivity and dedicaiton is the need of the need of the hour in civil services’.—Justify the statement.

TS T gard gfie ofl T foT 59 98 ORfhd 9 U W S W@l oA, @ T &R A7 IHeh! HEfhd
i a1 AR T TSa o FR Ieish i HR F STEl T Hehren qo1 39 Mierdl 39 @l SR e
¥ T U e o W Y 3 W AH-IR IR IR (F9) HT T8I TR TN GHREE A qSie bl
ST TEAH H R i a1 TcAfdH WEd & FHRO SThT Tog 8 TR AR Teid & TIH W
B €, O R wIeieh 1 3E T SR grRfET & ufd 39 N wd? 36 YR i TS gHSAS o
Tee ifedi & wfa @ wgen Serf o1 fafte sfagfa =1 yeel w@ 21 su SRl W foee
FHiferd qon 38 TRl 3G S i T 12

Rajeev was a migrant labour. One day when he was going on the road by his bicyle, a car pushed his
bicycle. Rajeev dragged the driver out of car and began abusing him. The driver took out a knife and after
stabbing him three-four times he fled away from the spot. Onlookers delayed rush Rajeev to hospital and
due to excessive bleeding, he died. If you were in places of Rajev, what would you have done for driver’
s irresponsible driving? Often people show indifferent or passive attitude towards such road accidents and
accident victims. Discuss its causes and suggest the remedies.
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